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POLNÍ CESTA VPC1 V K.Ú. LUH NAD SVATAVOU



Polní cesta VPC1 v k.ú. Luh nad Svatavou

č. bodu Y X
1 Y=-872024.50                 X=-1009546.85   
2 Y=-872033.77                 X=-1009546.80   
3 Y=-872013.76                 X=-1009546.91   
4 Y=-872019.20                 X=-1009544.27   
5 Y=-872028.13                 X=-1009544.83   
6 Y=-872024.97                 X=-1009539.76   
7 Y=-872020.56                 X=-1009538.38   
8 Y=-872022.32                 X=-1009537.09   
9 Y=-872020.14                 X=-1009527.34   
10 Y=-872017.74                 X=-1009516.62   
11 Y=-872014.49                 X=-1009508.24   
12 Y=-872008.18                 X=-1009500.55   
13 Y=-872005.43                 X=-1009498.42   
14 Y=-872004.92                 X=-1009495.65   
15 Y=-872006.05                 X=-1009494.00   
16 Y=-872000.06                 X=-1009497.17   
17 Y=-871998.93                 X=-1009498.82   
18 Y=-872000.05                 X=-1009494.73   
19 Y=-871998.32                 X=-1009491.13   
20 Y=-871999.46                 X=-1009489.48   
21 Y=-871993.46                 X=-1009492.64   
22 Y=-871992.33                 X=-1009494.29   
23 Y=-871991.80                 X=-1009489.08   
24 Y=-871990.69                 X=-1009488.32   
25 Y=-871984.01                 X=-1009482.83   
26 Y=-871977.60                 X=-1009475.18   
27 Y=-871974.20                 X=-1009469.36   
28 Y=-871972.75                 X=-1009466.45   
29 Y=-871968.29                 X=-1009457.49   
30 Y=-871965.01                 X=-1009450.90   
31 Y=-871963.83                 X=-1009448.54   
32 Y=-871959.31                 X=-1009439.63   
33 Y=-871954.69                 X=-1009430.75   
34 Y=-871953.39                 X=-1009424.03   
35 Y=-871949.99                 X=-1009421.93   
36 Y=-871952.30                 X=-1009417.78   
37 Y=-871951.33                 X=-1009416.00   
38 Y=-871952.64                 X=-1009415.28   
39 Y=-871945.92                 X=-1009414.46   
40 Y=-871947.48                 X=-1009408.99   
41 Y=-871948.79                 X=-1009408.27   
42 Y=-871940.38                 X=-1009404.39   
43 Y=-871942.67                 X=-1009400.25   
44 Y=-871938.03                 X=-1009395.96   
45 Y=-871935.56                 X=-1009395.63   
46 Y=-871930.74                 X=-1009386.87   
47 Y=-871929.79                 X=-1009385.14   
48 Y=-871925.82                 X=-1009378.16   
49 Y=-871920.63                 X=-1009369.61   
50 Y=-871915.15                 X=-1009361.25   

Hlavní vytyčované  body



51 Y=-871909.39                 X=-1009353.07   
52 Y=-871908.24                 X=-1009351.50   
53 Y=-871903.46                 X=-1009345.02   
54 Y=-871897.51                 X=-1009336.98   
55 Y=-871895.83                 X=-1009334.70   
56 Y=-871891.47                 X=-1009329.02   
57 Y=-871885.05                 X=-1009321.35   
58 Y=-871878.26                 X=-1009314.01   
59 Y=-871872.76                 X=-1009308.59   
60 Y=-871871.11                 X=-1009307.02   
61 Y=-871863.86                 X=-1009300.13   
62 Y=-871856.62                 X=-1009293.24   
63 Y=-871849.46                 X=-1009286.44   
64 Y=-871850.74                 X=-1009284.90   
65 Y=-871852.05                 X=-1009283.38   
66 Y=-871845.98                 X=-1009278.16   
67 Y=-871841.64                 X=-1009280.01   
68 Y=-871842.21                 X=-1009277.97   
69 Y=-871833.09                 X=-1009274.84   
70 Y=-871825.65                 X=-1009271.57   
71 Y=-871823.90                 X=-1009270.92   
72 Y=-871817.95                 X=-1009268.70   
73 Y=-871814.55                 X=-1009267.39   
74 Y=-871813.26                 X=-1009260.39   
75 Y=-871805.39                 X=-1009263.37   
76 Y=-871801.41                 X=-1009261.38   
77 Y=-871796.48                 X=-1009258.83   
78 Y=-871787.60                 X=-1009254.24   
79 Y=-871778.71                 X=-1009249.65   
80 Y=-871769.83                 X=-1009245.06   
81 Y=-871760.94                 X=-1009240.47   
82 Y=-871752.06                 X=-1009235.88   
83 Y=-871750.85                 X=-1009233.00   
84 Y=-871746.44                 X=-1009228.47   
85 Y=-871743.18                 X=-1009231.29   
86 Y=-871734.29                 X=-1009226.69   
87 Y=-871728.68                 X=-1009219.29   
88 Y=-871725.41                 X=-1009222.10   
89 Y=-871721.63                 X=-1009220.15   
90 Y=-871722.43                 X=-1009218.31   
91 Y=-871716.49                 X=-1009217.59   
92 Y=-871708.77                 X=-1009214.07   
93 Y=-871707.37                 X=-1009213.47   
94 Y=-871698.19                 X=-1009209.53   
95 Y=-871689.01                 X=-1009205.58   
96 Y=-871679.85                 X=-1009201.54   
97 Y=-871670.79                 X=-1009197.32   
98 Y=-871668.51                 X=-1009196.22   
99 Y=-871661.78                 X=-1009192.96   
100 Y=-871659.01                 X=-1009195.51   
101 Y=-871661.41                 X=-1009190.56   
102 Y=-871662.06                 X=-1009189.21   
103 Y=-871654.86                 X=-1009185.72   
104 Y=-871654.21                 X=-1009187.07   
105 Y=-871652.46                 X=-1009190.67   
106 Y=-871651.81                 X=-1009192.02   



107 Y=-871652.78                 X=-1009188.61   
108 Y=-871643.78                 X=-1009184.25   
109 Y=-871634.78                 X=-1009179.89   
110 Y=-871625.78                 X=-1009175.53   
111 Y=-871624.46                 X=-1009174.89   
112 Y=-871616.86                 X=-1009171.01   
113 Y=-871608.18                 X=-1009166.05   
114 Y=-871605.59                 X=-1009164.46   
115 Y=-871599.69                 X=-1009160.77   
116 Y=-871591.21                 X=-1009155.47   
117 Y=-871588.41                 X=-1009153.72   
118 Y=-871582.79                 X=-1009150.08   
119 Y=-871577.02                 X=-1009146.04   
120 Y=-871574.62                 X=-1009144.31   
121 Y=-871566.53                 X=-1009138.43   
122 Y=-871558.43                 X=-1009132.56   
123 Y=-871550.34                 X=-1009126.69   
124 Y=-871542.24                 X=-1009120.82   
125 Y=-871534.00                 X=-1009114.84   
126 Y=-871526.28                 X=-1009108.78   
127 Y=-871518.91                 X=-1009102.03   
128 Y=-871512.07                 X=-1009094.73   
129 Y=-871508.91                 X=-1009090.93   
130 Y=-871505.75                 X=-1009086.99   
131 Y=-871501.28                 X=-1009077.82   
132 Y=-871499.49                 X=-1009079.19   
133 Y=-871505.28                 X=-1009071.19   
134 Y=-871496.05                 X=-1009074.90   
135 Y=-871493.29                 X=-1009071.33   
136 Y=-871487.39                 X=-1009063.27   
137 Y=-871481.93                 X=-1009054.90   
138 Y=-871479.12                 X=-1009046.16   
139 Y=-871476.89                 X=-1009046.26   
140 Y=-871478.02                 X=-1009039.90   
141 Y=-871474.15                 X=-1009041.12   
142 Y=-871475.72                 X=-1009035.48   
143 Y=-871472.22                 X=-1009037.42   
144 Y=-871472.86                 X=-1009030.22   
145 Y=-871470.87                 X=-1009026.71   
146 Y=-871467.38                 X=-1009028.67   
147 Y=-871466.08                 X=-1009022.51   
148 Y=-871462.26                 X=-1009020.08   
149 Y=-871456.85                 X=-1009011.67   
150 Y=-871456.30                 X=-1009010.85   
151 Y=-871453.36                 X=-1009010.06   
152 Y=-871449.35                 X=-1009007.85   
153 Y=-871445.22                 X=-1009009.84   
154 Y=-871442.01                 X=-1009007.45   
155 Y=-871445.13                 X=-1009003.26   
156 Y=-871451.27                 X=-1009003.37   
157 Y=-871453.35                 X=-1009002.87   
158 Y=-871450.69                 X=-1008999.82   
159 Y=-871449.56                 X=-1009000.83   
160 Y=-871445.05                 X=-1008997.18   
161 Y=-871445.43                 X=-1008995.25   
162 Y=-871438.62                 X=-1008987.95   



163 Y=-871430.89                 X=-1008981.61   
164 Y=-871425.07                 X=-1008977.85   
165 Y=-871422.42                 X=-1008976.31   
166 Y=-871413.78                 X=-1008971.27   
167 Y=-871411.40                 X=-1008969.89   
168 Y=-871659.66                 X=-1009194.16   
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